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PHITS
Zr-93 Cs-135 Se-79

Pd-107 Zr-93 Cs-135 Se-79
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P(mA)  Ty,year W(g)

p = 821E+21 1.86 g/cm”"3 1.00 0.50 1000

E/u(MeV) r(cm) L(cm) [0 (cm*-2) h o (barn) |T1/2 year| P(mA) P(mA)
proton 1000 10 300{ 1.09E-03 1.7059 2.02 | 1597.71 3195.43 18.23
1000 5 300| 3.85E-03 1.2891 173 528.58 1057.16 2412
1000 1 100 0.180 0.6817 147 13.33 26.65 4561
1000 0.5 100 0.672 0.6134 142 3.70 741 50.69
1000 0.5 8 1.240 0.0911 142 1.99 3.99 341.31
500 5 100/ 8.31E-03 0.7728 144 293.89 587.78 40.24
500 1 100 0.175 0.6377 141 14.25 28.49 48.76
500 0.5 100 0.662 0.6535 153 348 6.95 4759
500 0.5 8 1.237 0.0836 131 2.17 4.35 372.10
200 0.5 25 1.070 0.2179 1.26 261 5.21 142.67
100 0.5 8 1.200 0.0880 142 2.07 4.13 353.50
50 0.5 25 1.220 0.0281 1.43 2.02 4.04 1107.46
deuteron 100 0.5 16 1.140 0.1935 1.65 1.88 3.76 160.68
100 0.5 8 1.210 0.1037 1.66 1.75 351 299.94
50 0.5 5 1.190 0.0609 159 1.87 3.73 510.86
neutron 14 0.5 60 0513 0.3176 1.60 4.29 8.58 97.90
14 0.5 36 0.721 0.2678 1.60 3.05 6.11 116.11
14 0.5 8 1.160 0.0955 1.60 1.90 3.81 325.59
0.001 0.5 60 0.688 0.7446 2.80 1.83 3.66 41.76
0.0003 0.5 60 0.626 0.8105 3.35 1.68 3.36 38.36
12C 500 10 40| 2.12E-03 25133 11.49 14459 289.19 12.37
500 5 40| 8.47E-03 0.8859 4.06 102.55 205.10 35.10
500 1 40 0.211 0.9437 4.34 3.85 7.70 32.95
500 0.5 40 0.840 0.7477 345 1.22 243 41.59

2
3

2-3




